EE576 homework for Laﬁlace Transform

6.27 Determine the bllateral Laplace transform
for the following signals:

(a) x(2) = e"u(t + 2) vl
(b) x(£) = u(—t + 3)
(c) x(2) =6(t+ 1)
(d) x(z) = sin(#)u(t)

6.29 Use the basic Laplace transform's;‘
transform properties given in Tab

determine the unilateral Laplaca
following 91gnals

(a) x() = —{te"ﬂ(t)}
(b) x(¢) = m(t}*cos{Zﬂ't (Z,
(€) x(2) = Pu(t) W
() =(2) = ulg St
(¢) #(z) = fye™ cos(2r)dr
(f) x(z) =t (e cos(B)u(z

6.31 Given the transform pair 503(23)“(%{ .
termine the time signals corres ko
Laplace transforms:

(@ (s+1)X(s) E
(b) X(3s)
(c) X(s+2)
(d) s72X(s)

© L x(s))

(a) x(3¢) _
(b) (2 — 2,/ A
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6.35 Determine the initial value x(0"), given the follow-
ing Laplace transforms X (s):

1
X(s) s o e
2 C) s+ 55 -2
s+ 2
LR o
6s* + s
L
) Xliie s2+ 25 —12

6.36 Determine the final value x( o), given the following
Laplace transforms X(s):

2s* + 3
240 = s+ 5s+ 1
s+ 2
(BISX(SHES 2+ 22 + s
2st + 1
e A
EIRAG)= s(s + 2)?

6.37 Use the method of partial fractions to find the time
signals corresponding to the following unilateral

Laplace transforms:

s+ 3
(8} X()= Sreemp
2s% + 10s + 11
L) ) = s+ S5s+6
2s =1
WX(S}_52+25+1
S5s+ 4
o) = s+ 3s* + 2s
s —3
 X(s) = T2y T
3s+ 2
) (e = s2+ 25+ 10
45 + 8s + 10
Lo L0) = (s + 2)(s? + 2s + 5)
352 + 10s + 10
(b) X(s) = oy i)
24 11s+ 16 +e™
X (e : °

s2+5s+6





